Algebrall Test Sections2.4253.23.3 Mr. Pleacher Name
|. Multiple Choice

1. Whichisthesolutionof x—1 < 3x+77?
(A) x<4 @B)x<-4 (C)x=4 ([D)x=>-4

2. What is the slope of the line that passes through (-6, 4) and (2, 10)?

4 4 3 3
(A)g (B)—g (C)—Z (D)Z

3. Which of the following is not afunction?
A) {(1,2),(-2,2), (3, 3)}
(B) {(1l 2)! ('2! 6)! (3! 3)}
© {(22),(23),43)}
(D) {(1,3).(23), (4 3)}

4. Giventheeguation of aline, y=-2x—7, what isthe slope of that line?
(A) 1 (B) -2 € -7 (D) 2

5. Giventheline 2x + 3y =4, what isthe y-intercept?

A 4 (B4 ©) —§ (D)g

I. Solve and Check each equation. SHOW WORK ON YOUR OWN PAPER.

[o2]

. |x-1=5

\‘

. |2x+ﬂ=5

0o

. [3x =1 =7x



1. Solve and graph each inequality. SHOW ALL WORK ON YOUR OWN PAPER.

9. 3x+2<-25

10. 2x-5<-11 or x+6>8

11. 3x>-12 and 4x-1<19

12. |2x+7| >3

V. Linear Equations

13. Write an equation of alinein slope-intercept form that passes through the points
(-6, 6) and (9, 1).

14. Determine the equation of alinethat is parallel to theline y = 3x — 6, and passes
through the point (1, 1).

15. Determine the equation of the line which is perpendicular to theline y =-2x + 1
and passes through the point (-1, 2).

16. Write an equation of aline in point-slope form that passes through the point (2, 6)
and has a slope of 3.

17. Which two of the following graphs are vertical translations of each other?
(A) y=4x-5 (B) x+4y=5 (C) 4x-y=2



18. Write an equation of alinein standard form that passes through the point (-1, -3)

and has slopem = %

19. Usethevertical line test to determine if the graph represents a function:
K

i AN

20. Determine the domain and range of the function
P= {(1! -4)1 (2! '5)1 (3’ 8)! (61 0)}

Extra Credit:

21. Determine the value of k such that the y-intercept of the line with equation
3x+2ky +9=0 is-6.



